1.1/1.2 Re-Teach Worksheet Name ‘\6‘{
Intermediate Algebra

1.1 -/ can understand how to represent a region on a graph with an inequality.

1.2 - | can understand real-world situations that can be modeled as linear relationships with
constraints.

Graph the following inequalities.
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1.1/1.2 Re-Teach Worksheet Name
Intermediate Algebra

6. Tickets for the school play cost $5 per student and $7 per adult. The school wants to earn at
least $5400 on each performance.

> \
a. Write an inequality that represents this situation %- A '}' 7\{ — 5_0(6(’

b. Graph the inequality:
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